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PART A: Vocabulary

AMWIT+ dnos pas () (gaasi g pogac) oucdfil L3

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes _.
each sentence. Then mark the correct choice on your answer sheet.

The two lawyers -—--—— their contract and each opened a separate office.

1) resigned 2) hindered 3) penalized 4) terminated
The police ordered the robbers to their weapons.

1) cease 2) settle 3) surrender 4) collapse
The nation’s economy was largely —-——— by foreign aid.

1) imported 2} sustained 3) disposed 4) accompanied

Unfortunately the current law
foreign countries.

-—- any improvement in the country’s trade with

1) impedes 2) compels 3) exposes 4) abstains

They are using that hall to hold their party ———,

) juncture 2) convention 3) intersection 4) circumstance
Talking about money now would be a -—-———- from the main purpose of this meeting.

1) digression 2} detention 3) disputation 4) dispersion

There have been calls for the drug’s immediate ——-—, following reports that it has
dangerous side effects.

1) protest 2) discharge 3) disposition 4) suspension

I have not read any of the previous chapters of this book, so you will have to give me a
brief ———-=m-m,

1} outlook 2) synopsis 3) panorama 4) prospect
Practical experience is an -— part of this course.

1) integral 2) adequate 3) accelerated 4) expository
Some of these plants are more - to frost damage than others.

1) inherent 2) forthcoming 3) susceptible 4) instrumental

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet.

We have said earlier that climates are continuously changing. (11) =ee-eeeeee until quite
recently that, climates ‘only changed significantly on very long time scales, over tens of
thousands of years. In the more recent past the changes in climate (12) - are a result of
mankind’s own activities. Secientists have been able to reconstruct accurately the average
temperature of the Earth, ( [3) =--e------ vears using millions of individual thermometer readings
§ I | Jrm—— world. The result seems to suggest that since the end of the 19" century the Earth
has warmed up by about 005°C (1 °F ). The warmest years all occurred in the 1980s. Although it
is not yet known forcertain, (15) -—--—----- explanation for this global-scale warming is the
increasing volume of pollutant gases that mankind is releasing into the atmosphere.

1Y There thought 2) It was thought

3) It has been thought 4) There has been thought

1) we have seen 2) we saw them 3) that have seen 4) that saw them

1) over 100 last 2) across 100 last 3) over the last 100 4) across the last 100
1) of around 2) from around 3) of around the 4) from around the
1) likely most 2ymost likely 3) the- most likely 4 plikely the most
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| Directions: Read the following passage and choose the best choice (1), (2), (3), or (4).
{ Then mark in on your answer sheet.

A disc harrow is a farm implement that is used to cultivate the soil where crops are to be
planted. It is also used to chop up unwanted weeds or crop remainders. It consists of many
iron or steel discs which have slight concavity and are arranged into two or four sections.
When viewed from above, the four sections would appear to form an X which has been
flattened to be wider than it is tall. The dises are also offset so that they are not parallel with
the overall direction of the implement. This is so they slice the ground they cut over a little
bit to optimize the result. The concavity of the dises as well as their being offset causes them
to loosen and pickup the soil they cut. In the olden days, disc harrows usually only consisted
of two sections and which were horse-drawn and had no hydraulic functionality. These
harrows were often adjustable so that the discs angle would not be offset so that they could be
transported without ripping up the ground as much and so they did not pull as hard. Modemn
disc harrows are tractor-driven and are raised hydraulically. Some large ones even have side
sections which raise up vertically to allow easier wroad transport or better storage
cnnf‘{guratiﬂns, Disc harrows are pnimarily used to chop up soil that has been recently plowed
to eliminate clumps and loosen the soil if it has been packed. They are also used to chop up
old crops, such as cornstalks, to make the land easier to plow and to eliminate clogeing in the
plowing process.

16- It is stated in the passage that ................
1) iron or steel discs have a slight concavity
2) disc harrow discs are a little curved inwards
3) farm implements are used to cultivate the'soil
4) unwanted weeds are cropped with the remainders
17- The passage mentions that .....cooih.............
1) horse-drawn harrows had only one or two sections
2) the X on the disc is flattened to be/more wide than tall
3) sl should be plowed before dise harrows can be applied to it
4) the ground will not be ripped up if the harrow is pulled slowly
18- We may understand from the passage that ..............
1) disc harrows cannot be raised if they are not hydraulic
2) modern disc harrows have several horizontal supports
3) disc hamrows without side sections cannot be stored easily
4) disc harrows were not transported from place to place in old days
19- The word “this® in the passage (underlined) basically refers to the word ..................
1) * offset’
2) * parallel’
3) ‘diregtion’
4) * implement’ .
20- The word *clog”in the passage (underlined) in closest 0 .....ooennvinnnnns _
1} “block’ 2) ‘push’ 3) *adjust’ 4) ‘block’
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A hay conditioner 15 a machine that erimps and crushes newly cut hay to promote faster and
more even drying. Drying the hay efficiently isimost important for first crop hay, which
consists of coarse stalks that take a longer period of time to draw out moisture than finer
textured hays, such as second crop cuttings. A conditioner is made up of two grooves rollers
which the hay is forced through causing the stalks to split, thus giving more surface area for
moisture to escape. The stand-alone conditioner is now an obsolete piece of machinery since
it has been incorporated into both haybines and mower-conditioners. Mower-conditioners
(MoCo's) are a staple of large-scale haying. Mower-conditioners are defined by the
mechanisms that accomplish mowing and conditioning. There are two types of mowers,
swathers and disc mowers. Swathers use sickles mounted to a series of rotating bars to cut,
Disc mowers have a number of hubs across the cutting width, each hub has two small knives
that spin at high speeds. Disc mowers can cut at much higher ground. speeds than swathers.
Swathers main advantage over disc mower is the reduced horsepower requirsments. Only
very large swathers are still produced and can be very efficient in high acreage fields.
Conditioners come in three main types; rubber-roller conditioners;, steel-roller, and flail. The
roller conditioners consist of two opposing rolls that have a raised, interlocking chevron
pattern.

The passage points to the fact that .............ccevnenn..
1) second crop cuttings are easier to dry
2) first crop hay is dried most efficiently
3) crop hay consists of long coarse stalks
4) finer textured hays contain much moisture
It is stated in the passage that ...........cvvvene.
1) large-scale haying is often done at an industrial scale
2) groove rollers force the hay through special side panels
3) hay- conditioner as a separate machine is a thing of the past
4) mower-conditioners are, in fact, the'same as hay- conditioners
The passage mentions that ...........cveeeeess
1) swathers have rotating bars that act assickles
2) the hubs on a disc mower have two.small knives
3} disc mowers consist of swathers and simple mowers
4) swathers work at much higher speeds than disc mowers
the passage points to the fact that swathers ....................
1) cannot be used for small lands
2} use less power than disc mowers
3) used to be much bigger in the past
4) are more efficient than steel- rollers
The word “chevron pattern’ mentioned in the passage is a shaped like a ...............
ek BT’ 3)'s 4) 'L
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A flywheel is a.mechanical device with a significant moment of inertia used as a storage
device for rotational energy. Flywheels resist changes in their rotational speed, which helps
steady the rotation of the shaft when a fluctuating torque 1s exerted on jt byits power source
such as a piston-based engine, or when the load placed on it is intermittent: Flywheels can 'be
used to produce very high power pulses as needed for some expenments, where drawing the
power from the public network would produce unacceptable spikes. A small motor can
accelerate the flywheel between the pulses. Recently, flywheels have become the subject of
extensive research as power storage devices for uses in vehicles. In application of flywheels
in vehicles, the phenomenon of precession has to be considered. A rotating flywheel responds
to any momentum that tends to change the direction of its axis of rotation by a resulting
precession rotation. A vehicle with a vertical-axis flywheel would experience a lateral
momentum when passing the top of a hill or the bottom of a valley. Two counter-rotating
flywheels may be needed to eliminate this effect. The flywheel has been used since ancient
times, the most common traditional example being the potter's wheel. In the Industrial
Revolution, James Watt contributed to the development of the flywheel in the steam engine,
and his contemporary James Pickard used a flywheel combined with a crank to transform
reciprocating into rotary motion,

We may understand from the passage that ...............

1} rotational energy develops out of moments of inertia‘in a flywheel

2) a flywheel's rotational speed steadies the torquetof.a piston’s shaft

3) the public network produces very high power pulses with some spikes
4) flywheels are not used as power storage dewvices in vehicles at present
It is stated in the passage that ............co00m00000e

1) counter-rotating flywheels can tackle lateral momentum on a vehicle

2) the direction of the axis of rotation by a precession ehanges frequently
3) rotating flywheels can change the momentum and direction of their axis
4) conventional flywheels do not work on passing hills or bottom of valleys
The passage mentions that ..... ...

1} Watt's steam engine had several flywheel

2) the potter’s wheel is a kind of flywheel

3) Pickard designed the flywheel used in Watt'sengine

4) cranks transform rotary motion'into “straight” power

The word ®it* in the passage (underlined) refersto .................

1) * speed’ 2} ‘torque’ 3) *flywheel’ 4) “shaft’
The word *© intermittent® in the passage (underlined) is closest to ...........
1) * regular’ 2} * frequent’ 3) * occasional’ 4) * continuous’
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